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ECONOMICS
( Major )

Paper : 5.6
( Development Policy and the Indian Economy )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x7=7

T Al enpTyes Teq foret

(a) Write the full form of NSSO.

NSSOF #j¢f efcht fora |
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(b)

(c)

(@)

(e)

(g)

8A/222

(2)

Define primary sector.

e 49 Sice |

Mention the density of population of
India according to 2011 Census.
2085 T CIIPEE We S SIS
=g SeEd 91

What is poverty gap?

wEe ¥ 872

State one problem for successful
implementation of ‘MGNREGA’.
MGNREGAT %% FoE9F (Fqe T&d @l
@1 TP Ty T4 |

Mention one negative impact of Green
Revolution of India.

TEeq ofte fAzEa b IS do TIRY
EXIN

What is minimum support price of
agricultural produce?

3 TR e e 39 %2
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(3)

2. Answer the following questions : 2x4=8
woT il epprgRa Ted o
(a) Tertiary sector in India employs two

different kinds of people. Who are
they?

SHASY CAINGE T2 TEEE WErR R
ficR | CREAR @M 2

(b} Name two beverage crops of India.
SRS GRY A X A

{c) Distinguish between medium, small
and micro-enterprises.

T, P W Y SR TGS A T
41|
fd) What is sex ratio of population? What

was the sex ratio of India according to
2011 Census? 1+1=2

PRYE fm wggAe - 7 20y
e ?
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(4)

3. Answer any three of the following
questions : 5x3=15

o o A e TefFot epd Te

(a) Explain any five features of India’s

national income. 5

Ww@ﬂwﬁmmtﬂﬁﬁxw
41 |

(b) What is meant by population
explosion? Discuss the impact of
India’s population growth on food
supply and unemployment. 1+4=5
SR RrEEd W 77 SRed SR
fi 4R T S R e el
ofeTg RS AL 4 |

(c) Give the full form of GST. Explain the
possible impact of GST on the small

and microenterprises of India. 1+4=5

GSTR #f bl fan | oSt FU S <
oA eds GSTA ¢ 7 ORI FAE
1 0
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(S)

(d) Distinguish between absolute and
relative poverty. Discuss various

causes of absolute poverty of India.

2+3=5
59 widwel S FeeifEe vRued e 9
79| oReq b9 wRweR ffen TR

AT $41 1

(e) What is Land Reforms? Give a brief
outline of any four important
problems for proper implementation of

Land Reform measures in India. 1+4=5
SH-RER A [ g@? SREs PR
IRER TFE TR R @I vifer segeyd

ST FAACE ATl Y SIS izl
4. Answer any three of the following
questions : 10x3=30
were fugn i e feferbt on Tes feoran

fa) Explain the trend and composition of
India’s national income during post-
1990s. Point out the factors
responsible for frequent variations of
India’s national income. 6+4=10
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(b)

(c)

8A[222

(6)

so50 T AIE FECIEAS SESY WOH
A G S 50 T I )| S
e WA N SRS WO TR
gl i |

Explain the causes of inequalities in
income in India. How can fiscal policy
be helpful in reducing inequality of
income? Is there any role of recently
implemented demonetization of ¥ 500
and ¥1,000 currency in reducing

inequalities in income in India? Give

reasons for your answer. 6+4=10

TEEY Ed TOWOR FRPHR AN F
oW SPIEl (RN CFaS ECPAR S
@R AT 24 NI ? e WS
oed 500 TF W 1,000 B (G
U S TSl AN FAE RS =
Sl AP I 7 (ORR Tewq LTS IS
ot |

Give an appraisal of the role

of agriculture in the economic

development of India. 10
Eeq GAfon Tmee FRE PRI U
EX IR
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A7)

(d) Give an overview of the industrial
development strategy in post-reform
period of India. 10

AT WFET [T IRERE S
S TR (PR SV HCAFATS
o

(e/ Mention the objectives of public
distribution system of India. Explain
the main defects of public distributicn
system of India. Suggest some

remedial measures. 3+4+3=10
SRed el [Aesd e TreeTR. TE

| IoE {e T9ER [ ACHTR
R A | ACHARDTR 79 T4 AR [Fga=
[ ol |

() Discuss briefly five main problems of
Indian agriculture. Explain three long-
run and two short-run measures to
solve these problems. 5+5=10
91| G TPOPTTR WA F9E A fofH 01
T S Y51 ZFIA EE G 4 |
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8A—5000/222 3 (Sem-5) ECOM 6



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

